
SAP ABAP table N1STAAL {IS-H*MED: Statuses for cost breakdown}

N1STAAL

MANDT [CLNT (3)]

EINRI [CHAR (4)]

ERBOE [CHAR (8)]

BEWTY [CHAR (1)]

BWART [CHAR (2)]

LSSTAE [CHAR (3)]

N1LSSTA

MANDT [CLNT (3)]

EINRI [CHAR (4)]

LSSTAE [CHAR (3)]

 N1STAAL-LSSTAE = N1LSSTA-LSSTAE 0..N

1

NORG

MANDT [CLNT (3)]

ORGID [CHAR (8)]
 N1STAAL-ERBOE = NORG-ORGID 0..N

1 T000

MANDT [CLNT (3)]

 N1STAAL-MANDT = T000-MANDT 
0..N1

TN01

MANDT [CLNT (3)]

EINRI [CHAR (4)]

 N1STAAL-EINRI = TN01-EINRI 

0..N

1

TN14B

MANDT [CLNT (3)]

EINRI [CHAR (4)]

BEWTY [CHAR (1)]

BWART [CHAR (2)]

 N1STAAL-BWART = TN14B-BWART 

0..N

1


